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Multiplication War
You will need: A deck of cards

1. Divide the deck evenly among the two players. Face cards are worth 10. The cards are to be face down
in the stack so players are not able to see the card value.

2. Each player draws two cards from the top of the stack and lays them down. The two cards drawn must
then be multiplied together. For example, if I drew a 5 and an 8, I would say aloud 5 X 8:40. If my
partner drew a 2 and a 6, he/she would say 2 X 6: 12. Because the produce of 40 is greater than l2,l
would take all four cards presented.

3. If both players draw the same product, that is a called a'owar.o' In this case, both players draw two more
cards and multiply them to find the product. The greater product will then take all 8 cards.

4. You can win several ways. You can time yourselves and after 15 minutes, the player with the most cards
wins. Or you can play until one player loses all his/her cards.
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How to Plcy
hçorotton qnd N¡ol€rtols,

l. Pr inI ouI the Multiplicotion Squores boor^d. You w¡ll need one boor'd per gome.

' B\PER-SAVIÏI|G TIP' Lominote the boord ond use thin dry erose morker s to ploy. Thot woy, students

con erose thein monks ond use the some boord eoch time.

2. Get 2 d¡ce.

3. Gel o d¡fFerent color-ed monker for eoch ployer .

Ob¡ecl of lhe Gonre',Io be the ployer who coptunes the most squores

Ployrrgthe Gonre

L Eoch ployer rolls one d¡ce. The ployer w¡th the highest roll goes firsl.

2. The ployer rolls bofh of the dice on the toble ond mulliplies the two numbers Iogefher^. For exomple, ¡f the

ployer rolls 6 ond l, helshe multiplies 6 ond Ll lo 9eÌ 2Ll.

3. The ployer looks for the product of the Iwo dice on The squor^es boqrd, ond dror¡,s ONE l¡ne by connecting ony

two dots thot or e sur rounding thot number, qs shown below. The ployer's morker is used To drqw Ihe l¡ne

beTween the dots.

T r30
o

For a roll of 6 qnd 11, fhe ployer moy find one of fhe 2tls on fhe squores board. Theployer moy connecf any fwo

dots on any side surrounding the 2Ll.

o

o

o

o

oo
Bt0

?ol2t t2
ÒÇ

o

o
12

ö
6

Ç
t5

o



How to Ploy lcontinuedl
11. Afler the ployer dnows his/her- l¡ne, thot ployen's lunn is oven ond Ihe nexl ployer's turn begins.

5. Ployers ore olwoys str iving to drow o l¡ne lhot will complele o squone. When one ployer dnqws o line fhql
completes o squore, Ihot ployer colons in the squor e w¡Th h¡s/her morker ond gets lo toke onof her tur-n with
rhed¡ce 

o Ç o o
12 B t0

Ç
6 t2

o
30

Ç

The ployer w¡fh the green marker drew f he top line lhof complefed fhe squore oround fhe 2Ll and colored lhe

squqre green fo show t'hal he capfured fhof square.

NoÍe, The player wifh f he green marker could have rolled o producf of B (obove f he 2Lj). Becouse f he player's lÌne

on fhe I would hove compleled t'he 2'l square, he sl¡ll would gef t'o copture t'he 2tl squore.

6. If o ployer r olls q product thol hqs no mone ovqiloble l¡nes left on the boond, the ployer's f urn is oven ond ploy

continues with The next ployer.

7. The gome ends when oll dots on the boord hove been connecled (or'when the leocher^ colls f ime). The ployer

w¡th the most copfured squones is lhe winner.

5Ior

o

o

o
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Looking fo proctice multiplicof ion fqcls through 12? Check out our full 'Squores' version! h|tp,//bi|.ly /MultSquores



twr@ twr* twr$twr& iwt@ lwt@ lw

Time to Mult¡PW

ll

l{oteriols

äilffl"4 deck of cards (includ"ing jokers for 0) with face cards removed

scrap paper and Pencils

calculators (optional)

Ihe WoY to PloY
';+t+é9çOç++o*SgS$

@ Ot " player stacks the cards facedown in a pile'

S rrur", 1 draws two cards, multiplies the numbers' and says the product

{ð

@

Player 2 takes a turn in the sarne way'

The player with the gle tüproduct find's the difference between those t\^/o products'

The player records ,f;" ¿rff"r"rrce as the number of points earned for the round' The used

cards are placed i' u ãir.urd pile. If it's a tie, neithei player earns points for the round'

$ eruy continues

most Points at

in the same \ilay until all the cards have been used. The player with the

the end of the game wins

..*..ì!r.trrar"t"'lo"ttåc'tt"rlt'

To play a game that reinforces sPeed, each PlaYe r draws two cards without looking at

them. Each PlaYer turns over one ofthe cards' At the same time, each player turns over

the second card and multiplies the two numbers' The first P layer to saY the correct

product wins all four cards, lf it's a tie, neither PlaYer wins the cards. PlaY continues in

the same waY untilthere are no cards left' The PlaYer with more cards wins'

Ployers: 2

TS
v

â

tË

*
ô

*.þ
¡f

t
Player 2earns 25 points' (60 - 35 = 25)

â
â
v

¡l .l
T̂v
v

ç

t
t

+

t
t

PlayerTmultiPles l0 x 6 = 60

=60=35 X
X

Example:
Player I multiPlies 7 x 5 = 35

@ Vqriotíon &

L4
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The Greatest
Produet

Ìloteriols
tôaÐd0ôsÔt

one shuffled deck of cards with tens, jokers, and face cards removed

scrap paper and pencils

calculators (optional)

The ltoy to
S*9öô ôt'ô9tùô

Ploy
4fè+ð

d) A player deals three cards to each player and

stacks the remaining cards facedown in a pile.

Each player uses the three cards lo creale a

two-digit number and a one-digit number with
the greatest possible product.

The player with the greater product scores a

point if the product is correct. Players check

each other's work. (Calculators may be used.)

If a player could have created a different
problem with an even greater product, the

player does not score a point.

Players place the used cards in a discard pile.

A player deals three cards to each player and

the nexì round is played in the same \May.

When all the cards have been used, the discard

pile is shuffled and play continues.

/\'
12)

.rå,

(3)

&

{s

\S The first player to earn 5 points wins.

Create a problem with the lowest producL instead'

Ployers: 2

e¡

â

v

â

â

Ig

5t*

*
tüq

v?
ç

å

ç
å

Ar

The player could create the following equatio¡s:

65 x7 = 455

67x5=335
57x6=342
56 x7 = 392

75x6=450
76x5=380

The player chooses 65 x7 = 455.

Example:
A player has these cards:

# Voriotion &

L9
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Factors and
Products

Hoteriols
i : :;

one shuffled deck of cards with tens, jokers, and face cards removed
Factors and Products Game Sheet (page lB), one per player
small markers that fit in the boxes on the game sheet, such as buttons or beans

(transparent plastic markers work well)

The ltoy to Ploy
" è'.:./ ::ì,. ".:t,.i

.lr One player stacks the cards facedown
in a pile.

Example:
Player,I draws two cards.

't'. Player I draws two cards. These are the
factor cards. The player iocates the factors

on the top and left side of the game sheet.

The player places a marker in the box
where the two factors meet (the product)
and places the two factor cards in a

discard pile. A player may place only
one marker per turn.

'r.ï Player 2 takes a turn in the same way.

.f.?Players continue to take turns. lf a

product box has been covered, a player
may not place another marker on it. If a

player is unable to place a marker on a
turn, the player places the two factor
cards in a discard pile and the tum ends.

When all the cards have been piayed, a

player shuffles the discard pile and stacks
the cards facedown in a pile.

The first player to cover three products in a row-
horizontally, vertically, or diagonally-wins.

The player locates the factors 4 and 6 and covers the

product (24) with a marken

The player may place the marker on either product box.

4.* r.

'.: iiv

6¿ .{

s+
,Y ig

')
)::

'.6i

X t 2 3 4 5 6 7 I I
t I 2 3 4 5 6 7 8 9

2 2 4 6 I 10 L2 t4 L6 18

3 3 6 9 L2 1S 18 2L 24 27

4 4 8 L2 16 20 24 28 32 3ó

5 5 10 15 20 25 30 35 40 45

6 6 t2 18 30 3ó 42 48 54

7 7 14 2t 28 35 42 49 56 ó3

I 8 L6 24 32 40 48 5ó 64 72

9 9 L8 27 36 45 54 ó3 72 81

+¡tôårià¡r*+l
Fdclors cnd Producl¡

Gome Sheet

*ô1tÉ.^*++trr*çç *'dl"*î¡tr*

X t 2 3 4 5 6 7 I I
T L 2 3 4 5 ó 7 I 9

2 2 4 6 I 10 t2 t4 t6 18

3 3 6 9 t2 15 18 2t 24 27

4 4 I t2 L6 20 28 32 3ó

5 5 10 15 20 25 30 35 40 45

6 6 L2 18 24 30 3ó 42 48 54

7 7 L4 2t 28 35 42 49 56 ó3

I 8 t6 24 32 40 48 5ó 64 72

9 9 18 27 3ó 45 54 63 72 81

Gamâ Shæl
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Name Date

I

l

i

Itrg i#tt l$tðlst* l#ts lwts l#
Foclors ond Producls

Gome Sheet

X T 2 3 4 5 6 7 I 9

T L 2 3 4 5 6 7 I 9

2 2 4 6 I 10 T2 L4 L6 18

3 3 6 9 T2 15 18 2T 24 27

4 4 I T2 T6 20 24 28 32 3ó

5 5 10 15 20 25 30 35 40 45

6 6 L2 18 24 30 3ó 42 48 54

7 7 T4 2T 28 35 42 49 5ó ó3

I I T6 24 32 40 48 s6 64 72

I I 18 27 3ó 45 54 63 72 81
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FINDIN G FACTORS GAME BOARD Reproducibrezr

VERSION z (NUMBERS t-5o)

copy thegameboardasneededtoplaythegame(onegameboardforeachgame).

Player l's Color Player 2's Color

2 3 T 5

6 7 B I l0

t7 t3 lL+ t5

l6 t7 IB l9 20

2l 22 23 2+ 25

26 77 7B 29 30

3l 32 33 3Ll 35

36 37 3B 3q TO

Ltl +2 L+3 LI L[ Lt5

L+6 +7 L+B Ltq 50

Player l's Score
Player 2's Score

,t, i:nçi:::;!;X':::#:':,i::*y;':"K,i,;i:liy:i"yitr:::å:åy:;::;#i{;ljJ"lî:ffi::ïft'*ffiå:ïljî:i:iî:"i;"H 
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The F actor Game

Each player, needs a different coror marker or crayon. îhe first
player selects a number andcircl-silhr second player circles all
ihr ptoper factors of the numugr i"ïdirär.nt coror. play arternates,

T*l^*:::tåid 
plaver then se!9cu"sîr"*¡er and the firsr circling

thr f|l$-;it"y continues until no fäcùors are left for the remaining
numbers' Players add the numbers they circled and the winner is
the playgr with the larger score. Note: Ítt ittrgul to circle a number
with no factors. Players who make an illegal rãove may add the
number to their score' but lose their rr.*t turn to select a number.

1 2 3 4 5

6 7 8 I 10

11 L2 13 L4 15

16 L7 18 19 20

2L 22 23 24 25

26 27 28 29 30

1 2 3 4 b

6 7 I I L0

11 L2 13 L4 L5

16 L7 18 L9 2a

25

30

2L 22 23 24

2926 27 28

1 2 3 4 b

6 7 8 9 10

11 L2 13 L4 15

16 L7 18 19 20

2l 22 23 24 25

26 27 28 29 30

1 2 3 4 b

6 7 I I 10

Ll" L2 13 L4 L5

16 L7 L8 19 20

2L

26

22 23 24 25

27 28 29 30




